Homework-5

1. This exercise makes you to derive the intensity pattern of a diffraction grating. Assume that there are N slits for this grating, the width of each slit is a and the center of two neighboring slits is separated by d, show that the intensity is given by 
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2. In this exercise we will work out the intensity of Fresnel diffraction from a knife edge. Using the notation in the lecture, you can take a1(( and a2=0. From this website http://www.geocities.com/piratord/Cornu/cornu.html you can find the Fresnel integrals you need. Consider a plane wave of wavelength (, calculate and plot the diffraction pattern at z= 14(, 14.5( and 15(
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